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e http://tech.nitoyon.com/ja/blog/2013/11/07
/k-means/

AT ERIAS

. N (/—F#): 100
K (‘7519_&) 5 =
SRR 4



< Tk
O RICK DK E

— kmeans(x, k, nstart=5, itermax=10,
algorithm=c(“Hartigan-Wong")
e X—> TFT—=HTY kK
k= OSRXHDE

« nstart -> FHAME(CEN 95— DEX
e itermax = ETEDOZ LR
o algorithm — Et&J7)LTUX

O>—50Dtwv k~
— X = as.matrix(beer)
— result = kmeans(x,5)

— result

R R Console | B3]
| A

E-means clustering with S5 clusters of sizes 4, 3, 2, 1, 1

v =it

Cluster means:

» % BN S5DIZOZREIFRLI=EESDEIL

1 2.750000 3.750000 2.500000

2 1.666667 3.333333 1.666667

3 5.000000 3.500 3.50 1]

4 5.000000 4.000000 5.000000

S 4.000000 ) 5.000000 2.000000

Clustering vector:

S A e e 2E —EHD PEA
5 2 3 3

JLETLEILY AR HEZL Frhwd

DUPPHE AR JRO(H -
1 2

LENFENDISRAY T 248

Within cluster sum of squares by clust

[1] 2.5 2.0 1.0 0.0 0.0 %‘%5X90)$7§*ﬂ0)ﬁ§+

(between S5 / total S5 = BE4.9 %)
Available components:
[1] "cluster™ "centers™ "torss™ "withinss" "tot.withinss"

[6] "beatweenss" "size" "iter" "ifaulc"
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— plot(gakuryoku.eigen$value, type="b") ;
abline(h=1, col="red",Ity=2)

|II,

QN |II,
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— result = factanal(gakuryoku, factor=2)
— result

R R Console =

» result = factanal (gakuryoku, factors=2, rotation="promax")
¥ Fesult

call:

factanal (x = gakuryoku, factors = 2, rotation = "promax")

Unigquenesses:
mEOIAAS  HHE ®WE ¥RE wE
0.24% 0.125 0.25%0 0.174 0.255 0.335

Loadings:
Factorl Factor2
mEE 0.823 = .
| 0.947 } FIRF ZEF+ R HA=-XH

i 0.869

ey 0.938
s 0,065 ]» 20 F i+ YE+ -1 R

Hs 0.762

Factorl Factor2
55 loadings 338 2919 F1IRF FE5FE 39%
Proportion Var 0.390 0.370
Cumulative Var 0.390 0.760 _

. FE2RF HFE5HE37% §5t76%
Factor Correlations:

Factorl Factor2

Factorl 1.000 -0.536
Factor2 -0.53¢ 1.000

Test of the hypothesis that 2 factors are sufficient.

The chi sguare statistic is 66.57 on 4 degrees of freedom.
The p-value is 1.2e-13
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A3 = Fa—e—
&332 = BEF
Fa—ke— = BETF
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— ZfFEB(LHS : Left Hand Side) & &
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— itemFrequencyPlot(Groceries)

=4 R Console = | ] ] e
¥ itemFregquencyPlot (Broceries)
> |
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— install.packages(“arulesViz")

— library(arulesViz)

— gruleX = apriori(Groceries,
p=list(support=0.03, confidence=0.05,
ext=TRUE))

— gruleX2 = subset(gruleX, subset=(lift>=1.5))

— plot(gruleX2,
method="graph’,interactive=TRUE)

Close Select Layout View Export
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— datal = list(c("/\>" "AEE" L
%tl:%ll)lc(llj \O\/","7I-A\\J"," t“_)l/lllll} \
All)lc(ny__t_ :/\\u,n t“_“/u’uj-A\\J
II),C(IIj.L_AI_\ /IIIII t“_)I/IIIII7I-A\\JIIIIIQ} K\:I
"),C("jel'\ Iu,n t“_)l/",lljl/\/:/“:/“l_
ZIIIII%EI:%H))

— data.tran =
as(datal,"transactions")

— as(data.tran,"matrix")
— as(data.tran,"data.frame")




Vo
BRARAAEEE
[R>HTHOLBHES

PE-|-$ BB HiE]

s S & hL>RTO (B
A— Lt
HErEERCENRS, B
£ RO, OSRT+ U RERE
| TRHAA TR, FRCET
| PHITEBRZA

15



